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A machine is in one of four states (F, G, H, I) and migrates annually among them
according to a Markov chain with the above transition matrix. At time 0, the machine Ol =3

¢ is in state F Find the probability that the machme is in state F' at the end of 2 years. | - %
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If the process begins in State 2, what is the probability that the process will be in State
1 after 2 steps?
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3) Suppose X(t) = »_Y; follows a compound Poisson process where the number of

i=1
claims N(t) occur at a rate of A = 10 per day and the claim severity distribution Y; is
exponential with 1500 = E(Y;). s
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c) Find E[N(30)], the expected number of claims in a 30 day period.
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l/{ >£3 ) Suppose the number of claims per day {N(¢),t > 0} is a nonhomogeneous Poisson

rocess where A\(t) = 3t? and ¢ is the time in days. Find the probability of 7 claims in

the first two days. Hint: need to find m(2) = m(2) — m(0). ; N R N
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